
Boechout Capenberg *** ClubTornooi *** 4 giften per ronde *** 09/06/2022

1 Matray Patrick-Lauwers Ria 31 Corstiens Monique-De Roeck Margot

2 Albrecht Bob-Verstrepen Ludo 32 Cruyplant Yolande-Vander Elst Louis

3 Goor Liselotte-Geens Karine 33 Snyders Robert-Van Genechten Rik

4 Kerckhofs Marc-Van den Bosch Ludo 34 Mertens Chris-Bastiaense Rita

5 Deproost Walter-Claes Jeanine 35 Smout Christiane-De Cort Leo

6 Symons Linda-Van Haut Viviane 36 De Roeck Alberic-Corstiens Paul

7 Beirens Yvonne-Myncke Jacques 37 Vercruyssen Jules-Voorspools Pierre

8 Bracke Roland-Maes Jeannine 38 Van Heddegem Luc-Embrechts Herman

9 Lenaerts Jan-Van Essche Monique 39 Goossens Louis-Docx Roger

10 Van Engelen Roger-Verrijken Annemie 40 Lemmens Jef-Boel Theo

11 Vansteenbeeck Greet-Schoemaker Denise 41 Mertens Willy-Robyn Jo

12 Roes Jef-Daman Martine 24 Bye
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